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EC-I (103) : Statistical Methods   
 
Time :  3 Hours]  [Max. Marks : 70 
 
ÍÛæ̃ Û¶ÛÛ :   (1) ÍÛÛþùÛ ïéõÅÛîýÛäÅÛé¤øÁõ¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà ÉÛïõÛÉÛé. 

Instruction :  Use of ordinary Calculator is valid.  

    (2) ›÷¾Û¨Ûà ¼ÛÛ›ä÷¶ÛÛ …×ïõ •Ûä¨Û þùÉÛÛÙÈÛé ™öé.  
     Answer to the right indicate marks.  

 

1. (a) ¸ÛóÛ¬ÛÜ¾Ûïõ …¶Ûé •ÛÛíé¨Û ¾ÛÛÜÐü©Ûà ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ÅÛ”ÛÛé. 7 

  Write difference between Primary data and Secondary data. 

 (b) •ÛÛíé¨Û ¾ÛÛÜÐü©Ûà¶ÛÛ ¸ÛóÛÜ¸©ÛÍ¬ÛÛ¶Û ÅÛ”ÛÛé. 5 

  Write sources of Secondary data. 

 (c) ¸ÛóÛ¬ÛÜ¾Ûïõ ¾ÛÛÜÐü©Ûà¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé. 2 

  Write meaning of Primary data. 

       …¬ÛÈÛÛ/OR 

 (a) ¸ÛóÛ¬ÛÜ¾Ûïõ ¾ÛÛÜÐü©Ûà ¾ÛéÇÈÛÈÛÛ¶Ûà •Û¾Ûé ©Ûé ¼Ûé Áõà©Û ÍÛ¾Û›ÛÈÛÛé.  7 

  Explain any two methods of collecting Primary data. 

 (b) ¸ÛóÊ¶ÛÛÈÛÅÛà¶Ûà Áõà©Û ÍÛ¾Û›ÛÈÛÛé.  5 

  Explain questionnaire method. 

 (c) •ÛÛíé¨Û ¾ÛÛÜÐü©Ûà¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé.  2 

  Explain meaning of Secondary data. 

 

2. (a) ÍÛ©Û©Û …¶Ûé ”Û×Ü¦ø©Û ˜ÛÅÛ¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé. 7 

  Explain meaning of continuous and discrete variable. 

 (b) …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ©ÛíéýÛÛÁ ïõÁõÛé. 5 

  Prepare frequency distribution : 

  0, 2, 3, 4, 2, 3, 0, 2, 1, 2, 1, 2, 3, 2, 1, 0, 2, 1, 3, 2, 1, 0, 1, 2, 1 

 (c) …ÛÈÛèÜ«Û¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé.  2 

  Explain meaning of frequency. 

    …¬ÛÈÛÛ/OR 
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 (a) Í©Û×½ÛÛÅÛé”Û, …ÛÈÛèÜ«Û ÈÛ’õ, …ÛÈÛèÜ«Û ¼ÛÐäüïõÛé¨Û þùÛéÁõÛé : 7 

ÈÛ•ÛÙ 0 – 20 20 – 40 40 – 60 60 – 80 80 – 100 

…ÛÈÛèÜ«Û 7 10 16 9 4 

  Draw histogram, frequency polygon and frequency curve : 

Class 0 – 20 20 – 40 40 – 60 60 – 80 80 – 100 

f 7 10 16 9 4 

 

 (b) Š¸ÛÁõ¶ÛÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ¾ÛÛ¤éø ÍÛ×˜ÛýÛà …ÛÈÛèÜ«Û ÈÛ’õ þùÛéÁõà Q2 ÉÛÛéµÛÛé. 7 

  Draw cumulative frequency curve and find Q2 for data given in Q(2)(a). 

 

3. (a) 
–
x , m …¶Ûé z ÉÛÛéµÛÛé. 7  

ÈÛ•ÛÙ Class 0 – 20 20 – 40 40 – 60 60 – 80 80 – 100 

…ÛÈÛèÜ«Û f 5 7 10 7 5 

  Find 
–
x , m, z. 

Class 0 – 20 20 – 40 40 – 60 60 – 80 80 – 100 

f 5 7 10 7 5 

 (b) ¾ÛµýÛïõ ÍÛ¾Û›ÛÈÛÛé. 5 

  Explain Mean. 

 (c) ˜Û©Ûä¬ÛÙïõÛé ÍÛ¾Û›ÛÈÛÛé. 2 

  Explain Quartiles. 

      …¬ÛÈÛÛ/OR 

 (a) Q2, P50 …¶Ûé D3 ÉÛÛéµÛÛé. 7 

ÈÛ•ÛÙ 0 – 10 10 – 30 30 – 60  60 – 70 70 – 100 100 – 120 120 – 150

…ÛÈÛèÜ«Û 5 15 25 30 35 20 5 

  Q2, P50, & D3 

Class 0 – 10 10 – 30 30 – 60  60 – 70 70 – 100 100 – 120 120 – 150

f 5 15 25 30 35 20 5 

 (b) ¼ÛÐäüÅÛïõ ÍÛ¾Û›ÛÈÛÛé.  5 

  Explain mode. 

 (c) ¾ÛµýÛÍ¬Û ÍÛ¾Û›ÛÈÛÛé. 2 

  Explain Median. 
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4. (a) ¼ÛÛŠÅÛà¶Ûà Áõà©Ûé ÜÈÛÌÛ¾Û©ÛÛ×ïõ •Û¨ÛÛé : 7 

ÈÛ•ÛÙ 0 – 10  10 – 20 20 – 30 30 – 40 40 – 50 50 – 60  60 – 70  

…ÛÈÛèÜ«Û 2 5 8 10 8 5 2 

  Find coefficient of skewness by Bowley’s Method : 

Class 0 – 10  10 – 20 20 – 30 30 – 40 40 – 50 50 – 60  60 – 70  

f 2 5 8 10 8 5 2 

 (b) ÜÈÛÌÛ¾Û©ÛÛ¶Ûà ïõÍÛÛé¤øà…Ûé ÅÛ”ÛÛé. 5 

  Write tests of skewness. 

 (c) ÜÈÛÌÛ¾Û©ÛÛ×ïõ ÉÛÛéµÛÈÛÛ¶Ûä× ïõÛÅÛÙ Ü¸ÛýÛÍÛÙ¶Û¶Ûä× ÍÛæªÛ ÅÛ”ÛÛé. 2 

  Write formula for finding coefficient of skewness by Karl Pearson’s Method.  

    …¬ÛÈÛÛ/OR 

 (a) ïõÛÅÛÙ Ü¸ÛýÛÍÛÙ¶Û¶Ûà Áõà©Ûé ÜÈÛÌÛ¾Û©ÛÛ×ïõ •Û¨ÛÛé : 7 

ÈÛ•ÛÙ 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 

…ÛÈÛèÜ«Û 2 5 11 5 2 

  Find coefficient of skewness by Karl Pearson’s Method. 

Class 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 

f 2 5 11 5 2 

 (b) ÍÛ×Ü¾Û©Û …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û¶ÛÛ •Ûä̈ ÛµÛ¾ÛÛë ÅÛ”ÛÛé. 5 

  Write properties of symmetric distribution. 

 (c) ˜Û©Ûä¬ÛÙïõ ÜÈÛ˜ÛÅÛ¶Û ÍÛ¾Û›ÛÈÛÛé. 2 

  Explain Quartiles deviation.  

 

5. ”ÛÛÅÛà ›÷•ýÛÛ ¸ÛæÁõÛé : (þùÁéõïõ¶ÛÛé …éïõ •Ûä̈ Û) 14 

 Fill in the blanks : (One mark of each) 

 (1) ›Ûé x = 100 …¶Ûé n = 50 ©ÛÛé ¾ÛµýÛïõ ______ ¬ÛÛýÛ. (2, 50, 100) 

  If x = 100 and n = 50 then mean is ______. (2, 50, 100) 

 (2) 2, 4, 6, 8, 10, 12, 14 ¶ÛÛé ¾ÛµýÛïõ ______ ¬ÛÛýÛ. (6, 8, 10) 

  Mean of 2, 4, 6, 8, 10, 12 and 14 is ______. (6, 8, 10) 

 (3) 6, 6, 6, 6, 6 ¶Ûä× ÍÛÁéõÁõÛÉÛ ÜÈÛ˜ÛÅÛ¶Û ______ ¬ÛÛýÛ.  (5, 6, 0) 

  Mean deviation of 6, 6, 6, 6, 6 is ______. (5, 6, 0) 

 (4) 3, 3, 3, 3, 3, 3 ¶Ûä× ¸Ûó.ÜÈÛ. ______ ¬ÛÛýÛ. (6, 3, 0) 

  S.D. of 3, 3, 3, 3, 3, 3 is ______. (6, 3, 0) 

 (5) 
–
x = 20, z = 19, s = 10 ¶ÛÛé ÜÈÛÌÛ¾Û©ÛÛ×ïõ ______ ¬ÛÛýÛ. (– 0.1, 0, 0.1) 

  
–
x = 20, z = 19, s = 10 then coefficient of skewness is ______. (– 0.1, 0, 0.1) 
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 (6) 
–
x  = 21, M = 20, S = 10 ©ÛÛé ÜÈÛÌÛ¾Û©ÛÛ×ïõ ________ ¬ÛÛýÛ. (– 0.3, 0, 0.3) 

  
–
x  = 21, M = 20, S = 10 then coefficient of skewness is ________. (– 0.3, 0, 0.3) 

 (7) ¶Ûà˜Ûé¶ÛÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ¾ÛÛ¤éø ÜÈÛÌÛ¾Û©ÛÛ _________ ™öé (+1, 0, –1) 

  Skewness of following distribution is _________. (+1, 0, –1) 

x 0 1 2 3 4 

f 1 4 5 4 1 

 (8) ›Ûé z < m < 
–
x  ©ÛÛé ÜÈÛÌÛ¾Û©ÛÛ _________ ¬ÛÛýÛ. (µÛ¶Û, Þô¨Û, ÉÛæ¶ýÛ) 

  If z < m < 
–
x  then skewness is _________. (positive, negative, zero) 

 (9) ›Ûé Q3 – m = 10 …¶Ûé m – Q1 = 5 ©ÛÛé ÜÈÛÌÛ¾Û©ÛÛ×ïõ _______ ¬ÛÛýÛ. ( ½ , 1/3 , ¼) 

  If Q3 – m = 10 and m – Q1 = 5 then skewness is _______. ( ½ , 1/3 , ¼) 

 (10) ˜Û©Ûä¬ÛÙïõÛé …¶Ûä’õ¾Ûé 4, 6, 8 ÐüÛéýÛ ©ÛÛé ÜÈÛÌÛ¾Û©ÛÛ×ïõ _______ ¬ÛÛýÛ. (–1, 0, 1) 

   Three quartiles are 4, 6, 8 respectively then co. of skewness is _______. (–1, 0, 1) 

 (11) 
–
x = 40, s = 5 ©ÛÛé ˜ÛÅÛ¶ÛÛ×ïõ _______ ¬ÛÛýÛ. (0, 12.5, 800) 

  If 
–
x = 40, s = 5 then coefficient of variation is _______. (0, 12.5, 800) 

 (12) 
–
x  = 10, m = 8 ©ÛÛé z = _______. (8, 4, 0) 

  
–
x  = 10, m = 8 then z = _______. (8, 4, 0) 

 (13) ¶Ûà˜Ûé¶ÛÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û¶ÛÛé ¼ÛÐäüÅÛïõ ________ ¬ÛÛýÛ. (10, 3, 0) 

   Mode of following distribution is ________. (10, 3, 0) 

x 0 1 2 3 4 5 6 

f 2 5 7 10 7 5 2 

 (14) 20 …ÈÛÅÛÛéïõ¶ÛÛé ¾ÛÛ¤éø ›Ûé  |x – 
–
x | = 200 ÐüÛéýÛ ©ÛÛé ÍÛÁéõÁõÛÉÛ ÜÈÛ˜ÛÅÛ¶Û ________ ¬ÛÛýÛ.  

   (10, 100, 5) 

   For 20 observations if  |x – 
–
x | = 200 then mean deviation is ________. (10, 100, 5) 

    


